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1.0ptions shown in green color with a tick icon are correct
2.Chosen option on top right of the question indicates the o ption selected by the candidate
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Question ID :9864493907
Status :Answered

Chosen Option :2

Problem Figure - o3 =

Answer Figures - 3caR 3Tpfaar
Choose the correct water image of the problem figure.

Problem figure:
Answer figures:
A [
d N
Page-1
A B C D
Ans x 1.D
v oA
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X3 C
X 4B

Q.2 fe 5 wadr 2018 & HHAAK & ar 8 3 2019 & Hia 7 e gam?
5t February 2018 is a Monday. 8% April 2019 will be a:

Ans FER

] Chosen Option :3

X 1
Wednesday

HITAAY
' Tuesday

THIR

' Monday

4
' Sunday

Question ID :9864492733

Status :Answered

X 2

VE

x

03 T W TR WAE B A WG F Fer @ @ §?

s W, e N

1 2
Select the figure which does NOT belong to the group.

Question ID :9864493709
Status :Answered

Chosen Option :1

Ans 11. 3

Q.4 T F=Teir &1 awa T 4,200 3 THEIET T 7| FHRT T 8% Forad S eI FFA |
T T ATE T e e g

An electric bulb was bought at ¥ 4200 .Its value depreciates at the rate of % per annum
Its value after one year will be: Chosen Option :3

ans X 1. T 3684
X 2.7 3,800
v 373,864
X 4.T 3,746

Question ID :9864492486
Status :Answered

Q.5 9 & 3 AW Tes 2017 vidwiEEr frw s @ise & A &2

Which Indian model won the Miss World 2017 contest held in China? Question ID 19864492231

Status :Answered
Ans

Chosen Option :3
2/27
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ST 3ThIST

XL
Zovya Afroz
x AT et
Noyonika Chatterjee
. AT oo
3.
Manushi Chhillar
x snforT o7
4.
Alia Bhatt

0.6 TF fe=im e & o9 Y ofTw T ST U (et Fi &7

estion ID :9864492140
Who is the only cricketer to score three double centuries in One-Day Cricket? Questi

Status :Answered

Ans x 1 dNZ TEarET Chosen Option :4

Virendra Sehwag

R ifear
Ricky Ponting

ﬁ?&f rer
Chrls Gayle

«4.'{\'%?!' TAT

Rohit Sharma

> sﬂﬁ # FeT W T TS TR § ? Question ID :9864493454
Which of the following is a chemical change? ;a:;':n’:)';‘l':fid
Ans " HFET T @ET glaT
Butter turning rancid
€0, ¥ @ 9% &=
Makmg dry ice from CO,
T Telfedd dR & I Blar
Heating a platinum wire

an%*a:rgﬁﬁmw

Magnetisation of iron

X 2.

X 3.

X a.

Q.8
Question ID :9864494360

Status :Answered

Chosen Option :1

3/27
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ey & o8 amgphr # P & dE e B2

SN

Select the option that represents the number of triangles in the given figure.

K16
X 210
X 37
v 49

Ans

Q9 s & AEE F BT =g gfdea T = &
What is the highest percentage slab for GST in India?
< 1. 20%

Ans

Question ID :9864492228
Status :Not Answered
Chosen Option :--

X 2.32%
X 3.25%
W 4 28%

Q.10 T LIRS UM &1 1000 3 Sger 9 IO FreT S TEIATH 100 F T FA T
AToF AT H 10,06 HOF 1 UATeH quites w1 Hiaw

A positive integer, which when added to 1000, gives a sum which is greater than 10.06
when it is multiplied by 100. This positive infeger is:

Question ID :9864492504
Status :Answered
Chosen Option :1

Ans

F |
v 27
X33
X 45

Q.11 37uTg3it & 3AE T Fad agdr §ag (shell) #
Non-metals generally contain

12413
r 3
1,20r3

s AT £

electrons in their outermost shell.

Ans

Question ID :9864493092

Status :Not Attempted and
Marked For Review

Chosen Option :--

5,6, 73T8
5,6, 70r8
8,941 10

X 3.
8,%90r 10

10T 18
10to 18

v

r 9

Page -4

4/27



9/14/2018

29-08-2018(6).html

Q.12 few 1w w fammedt F ¥ A & 7 el W S F aww aren wér wfafEa

T
Probilem Figune
X 8
-
Answer Figures
B e s | -
X B % [x B [x @
A B < D

Problem Figure
X )

XD
viC

Question ID :9864493759

Status :Marked For Review
Chosen Option :2

From the given four answer figures choose the correct water image of the problem figure.

Qﬁmmqﬁﬁhmam@wﬁmnm##ﬁvﬁmamﬁ?

What is the radius of an atom used to measure?

Ans AIOES TEAT
X

Question ID :9864493053
Status :Answered
Chosen Option :4

Atomic number
qTAIUSS SaHTH
Atomic mass
Vs qI{AYSS 3R
Atomic size
QIATUTHar
X a.
Atomicity

X o

Q.14 3% 10kg == #r ot a7 W 20N & wman ST &, A =0T fRaer

e

If a force of 20N is applied on a body with a mass of 10kg, what will be the acceleration
produced?

Ans X 1. 100m/sec?

Question ID :9864493420

Status :Not Answered
Chosen Option :=-

< 2. 200m/sec?
X 3. 5m/sec?
v 2. 2m/sec?

WS efFT FTHT S

The formula of Power is:

Question ID :9864493565

Status :Marked For Review
Chosen Option :4

Page -5
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work/time

X A/THAT
speed/time

x s/ 98T

.
displacement/time

Q.16 TF TEG F 10 WY F Prww TS AN TF oo a7 T 20 FAAeT H
Zhr o @ e ¥ | g it fheeh gt w A

An object is placed at a distance of 20 em from a convex lens of focal length 10 em. The
image is formed at a distance of:

Question ID :9864493223
Status :Not Answered

Chosen Option :==

Ans ) 15 TErHEeT

>
15 cm
?(2.5
5 cm
20 HEHET
v
20 cm
X 4 10 HETHRET
10 ¢cm

Q17 A T eedl & S # T AR Meg-TIH F AIS |

It : 3T 9T
Select the word pair that is analogous to the given word pair.

Question ID :9864494289
Status :Marked For Review
Chosen Option :1

Sankranti : Andhra Pradesh
Ans HOTH ©
v
Onam : Kerala
SIT9TET ; T
r 3 )
Bhangra : Punjab
, fraaw - g
Christmas : Christians
| FUF 1 3o g2
Kathak : Uttar Pradesh

x

x

Q1814 35 3T 56 &FT .9, fhaar 87
The LCM of 14, 35 and 56 is:
Ans  of 1 280

Question ID :9864492963
Status :Answered

Chosen Option :1

X 2.140
<3210
# 4. 560

6/27
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Q.19 feeeit & s Aftse FE adT aewng & wuasre # g Tt o
Under which Indian emperor's reign was the Jama Masjid in Delhi built?

+

Ans x . E—HW-\

29-08-2018(6).html

Question ID :9864492115
Status :Answered
Chosen Option :4

Q.20 af vegwforasy £ Farsrar 3 3t sitaior #1 2 8. & vegeiforas simmge =
TEE e g

If the valency of Aluminum is 3 and that of Oxygen is 2, then the chemical formula of
Aluminum oxide is:

Ans X 1 (AlO)3,,
/< 2. AlO,
< 3. AlLO,
W 2 Al O

Question ID :9864493548
Status :Marked For Review
Chosen Option :3

Q.21 # 3k = vl #) @ 3w weg @ B weg A & @ &) 0 S Hr
T AT B

Sree and Kavi are a couple. Siri and Samyu are sisters. Samyu is the sister of Kavi. How is
Siri related to Sree?

Ans x == [ATAT /G AT [ATF
1.

Uncle
X 2 L
Brother
X s = 98/ HAY @
Cousin
v T sl /ARl FASIAY ST

Sister-in-law

Question ID :9864494316
Status :Answered

Chosen Option :4

Q.22 TR 53 — Tx +2 F YA o 3N E. A 3% sxeer 7 Ay s gl

If ¢t & P are the zeros of the polynomial 5x% — Tx + 2 then the sum of their reciprocals
is:

Question ID :9864492455
Status :Answered

Ans o ; Chosen Option :3
X 2. g
X 3. ;
vl

Q.23

Question ID :9864493235

Page -7
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ArafafEs & & 7wl Faw & R g9 g 2
In which of the following permanent tissues are the cells dead?

Ans ﬂiﬂm-r
X

Parenchyma

OIS AT

' Collenchymas

TFol{ARISHT

. Sclerenchyma

TLARISHT

. Aerenchyma

X2

v 3

p

29-08-2018(6).html

Status :Answered

Chosen Option :1

Q24 ggor # 36T TET F = ud @ g

Testes are located outside the abdominal cavity in the:

Ans IETQ]T.I'
r N
Urinary bladder
x> HERI
Ovary

r 53 _
Vagina
v FHEHIT Hr el
4,

Scrotum

Question ID :9864493597
Status :Answered
Chosen Option :4

Q.25 % BT & eléY e 7 FIerT e 72 Y Ao FTe 9T v ot @ i @ g
The smallest number by which 72 must be multiplied to obtain a perfect square is:

Ans X 1 4
X 26
<38
Va2

Question ID :9864492460
Status :Answered

Chosen Option :3

Q.26 TF HEHAT 9F # T 15 FreieT A Ftar ¢, B W mEar & st 20
foreiiiet =@ 31 $9F 916 97 ¢ #gaT § iR 30 FRdnder o e §
3 #, 77 @ifeer geer ¢ 3t 40 Rreiefer e ¥ st Rig st simen &
A =g e g &
A man travels 15 km towards east, then turns right and travels 20 km. He then tums left

and travels 30 km. Finally, he takes a right turn and covers 40 km. The shortest distance
between the starting point and the destination is:

Question ID :9864493737
Status :Answered
Chosen Option :2

Ans X 1 50 km
v 2. 75 km
< 3.100 km
2 4.80 km

Q.27

Question ID :9864493624 ]

Page -8
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Ans

x

x

x

v

10.5:&#

0.5s
25#%
58

0.2 ¥F=

3.
02s

4 4 E'I'lg
45
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TE Tl A wed o Bl ¥ SEE e at-ehd #r gfr 80 v ¥ sk
mﬂﬂﬁzomqﬁmtlmwmm-aﬁ&aﬁqgaﬂﬁm
M2 TF HAY grmi

Status :Answered
Chosen Option :4

If an anchored boat is rocked by waves whose crests are 80 m apart and whose velocity is
20 m/s, then the time required by the crests to reach the boat is :

Ans x
x
X
v

Q28 — 70
= 70

1.-9

2. - B9
3.- 105
4. - B3

LTS
2300

Question ID :9864492639
Status :Answered

Chosen Option :4

Ans X
x
v
x

Q.29 TF T F T & 63 3fF Wea fRr Sif 84% 3iF Wi A & T )

oiieT freer s & e

In a test Paran secured 63 marks that was also equivalent to obtaining 84% marks, How
many marks was the test out of?

1. 80
2.65
3. 75
4. 85

Question ID :9864492987
Status :Answered

Chosen Option :3

Ans

x

x

v

x

Q30 A KB UH Fd H 40 B F QU A v € B IR C W 30 Rm & g
T T ¢, Fath C AT A T w1 F 24 oF F oo = weS €1 A B AT
C Wi HoT e 56 e # B R F U w w82

A and B can complete a task in 40 days, B and C can complete it in 30 days while C and A
can complete the same task together in 24 days. How many days will each of A, B and C
take to complete the task individually?

48, 96 3T 32
" 48,96 and 32
32, 48 3IX 96
" 32,48 and 96
60, 120 37T 40
"~ 60. 120 and 40
, 40, 120 31T 60

140, 120 and 60

Question ID :9864492990
Status :Answered
Chosen Option :3

Page - 9
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Q31 vEry fATrery & ARST-3ATER @53 Fia g2
Which Indian American is the CEO of Adobe Systems?

Question ID :9864492395
Status :Answered

Chosen Option :2

Francisco D’Souza

9l ARTIOT

v i
Shantanu Narayen

Tex s
Sundar Pichai
T AT HT

~ 3.

X 4
Sanjay Kumar Jha

Q.32 FTala Mt a7 #=1 & Fra wifiETat & Amews ¥ A gl F S FE S
Reproducing new plants by cells instead of vegetative parts or seeds is called:

Ans fe e
v:. =

Question ID :9864493558
Status :Answered
Chosen Option :1

tissue culture
ECREE I

2.
regeneration

X3.a§. +

X

multiple fission

_ e EwEa
X a.
binary fission

Q.33

Question ID :9864494170
Status :Answered

Chosen Option :1

Page - 10
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T 7v g W TR w1 3T o7 1 F & W Aot # ¥ #= o
AT & @)

aFAe:
farer o/ T AT &, "AfE T 3O SAGE QU AE A, A 3o e
# e @ srepAfa At & sl

HIAT:

1. 3reemes o 1w aA H v AU
2. firer g & T @em & dw A o A R S e I oA W

HEr T E
Consider the given statement true and decide which of the given assumptions is (are)
implicit.

Statement:
A teacher tells a student, “if you don’t finish your homework, you will not be allowed into

the class™.

Assumptions:
1. Discipline is a way to create effective learning.

2. The teacher will be happy not to have a student who is not puncmal in his work,

" Had ATaT 1 AT g
Only assumption I 1s implicit.

1 3R 2 gt A @ &
Neither assumption I nor II 1s implicit.

3 shadl AT 2 [T &

| Only assumption IT is implicit.
|1 3R 2 g fAfea §

‘Both assumptions I and II are implicit.

x

x

X

Q.34

Ans

=y
Y[l
=]

afg few v el 1 %aa U an 39AT W A §AE a0 ST Aehd, Jf 7
wE &

=N
&

AR

¥ 2] E

If three groups could be formed using the given figures only once, these groups would be

7 (1,4,7), (2,3,6) 3T (5,9,8)

(1,4.7), (2,3.6) and (5.9.,8)

Question ID :9864493986

Status :Not Attempted and
Marked For Review

Chosen Option :==

Page - 11
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2 (1,4,7), (2,9,6) 3T (5,3,8)
(1,4,7), (2,9.6) and (5,3,8)
_(1.47), (5,36) 3k (2,9,8)
(1,4,7), (5,3.6) and (2.9,8)
(2,4,7), (1,3,6) 3T (5,9,8)
* (2,4,7), (1,3.6) and (5,9,8)

X

x

Q.35 10 em 3R 6 cm Faw e v amaE ¥ wAW IRAT AT ow FEEGHS
Question ID :9864492835
7T R v T 60° § FAIP 1 A T Feiey A R Status :Marked For Review
grm? Chosen Option :1

A rectangle having 10 cm and 6 cm as its dimensions was reconstructed to make a

rhombus having the same perimeter as that of the rectangle and 60° as one of its angles.

The area of the rhombus, in cm?, was:

Ans X 12443
X 2.8\/3
X 3.16V3
v 23243

Q.36 e THITRATYA 3 WS U Wiah ST (FHSH) F Tgen Atgen
T w32 Question ID :9864492194

Who is the first female president of National Association of Software and Services Status :Not Answered
Companies (NASSCOM)? Chosen Option :==

Ans 3T AR

b Vanitha Narayanan
CHATAT =Y

. Debjani Ghosh
fastor ASpHER o

v

X3
Kiran Mazumdar Shaw
, ATedsr sifaarad

X 4
Mallika Srinivasan

Q.37 .
Question ID :9864494088

Status :Answered

Chosen Option :4

12/27
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W SeOT-AFE F TIF FL S & TE T AFA FOFE 907 qiataa g

Problem Figure A

o4

C)hs “d
AT

A B C D
Select the Answer Figure that is the correct mirror image of the given Problem Figure.

o]

Pes
1A 4
%QQC/Q/N

A B C D
Ans ?(1.(3
X2 A
< 3B
v 1D

Q.38 @R # warE R W W oAy fr {f¥ Bw wen wwae gl # e
‘What happens to the ammeter reading when the length of the wire is doubled?

xl'uaﬂ?ﬁa’rmﬁr%

Ans

Question ID :9864493226
Status :Answered
Chosen Option :4

It increases two times
v, T 3 T e g
It decreases to one half
| TE Jer-teng I oT S §
It decreases to three-fourth
x , TE TAT T §

It remains the same

X

Q3 AT # & FhEehI i $&l% el &7

Which of the following has NO unit?
Helcd

Ans

Question ID :9864493559
Status :Answered
Chosen Option :3

1.
Density

7> & geica
‘Relative density

13/27
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X 3.

Displacement
arsl

Pressure

X a.

Q.40 THEToT & v sre e Rrel qur dewma F wuw wew sfEfie s d

LHS = RHS g =meem Question ID :9864493917

Status :Answered

Ex4+2=16 Chosen Option :2

‘Which of the following signs and numbers should be interchanged such that for the
following expression, LHS = RHS.

bXx4+2=16

Ans x X &+, 2FH 6 FIHA I
1.
X with +, 2with 6

x X &+, 42 F AT
2.
X with +, 4 with 2

x X P+, 16 H 6 FTIT
3.

X with +, 16 with 6

X B+, 46 FIT

X with +, 4with6

v

Q.41 Tl o= I 7 g F AW, vF W F IRAN F oA § IR o=
AT T F SEET & S ¥ Hﬂﬂmgﬂ#mﬁmﬁr%‘? Question ID :9864492975

The sum of the lengths of the edges of a cube is equal to half the perimeter of a square. If Status :Not Answered
the numerical value of the volume of the cube is equal to the numerical value of the area Chosen Option :--
of the square, then the length of one side of the square is:

Ans
X1 108 S&TS

108 units

x, 38 T

36 units

¢3_21s SFS

216 units

. ZBE

288 units

42 AT 2018 TF IR STET & HgER RER & A T R e
: fosar arar 2 Question ID :9864492417

‘Who is the newly appointed Governor of Bihar as of March 20187 Status :Marked For Review
Chosen Option :4
Ans v T3 T Ao
Satya Pal Malik
2.
Kiran Bedi

X

14/27
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o HAT =l

X 3. 2
Devandra Kumar Joshi

X 4 H ey 9raaT
Ram Vilas Paswan

Q.43 W& BT (Problem figure) #i=r fGw a1@ =X fa=edl (Answer figures) # ferdlr _
v # afewfRa &1 sasC B weA ofd (Problem figure) 3 o fawedt # @ Question ID :9864493706

formst oot g5 &1 Status :Answered
Chosen Option :4

Problem Figune

15

Answer Figure

@i

A

The problem figure is embedded in one of the four answer figures. Which of the four
figures contains the problem figure?

a=
& (@

Ans x 1. B

Q.44 Frafefla acal & & #ia o acF AW e e e WA & wry
FEUTHT BT a8 HO] 3e9ee 0 1 faflre dear e 37 Question ID :9864493291

Which of the following elements has the unique ability to form bonds with other atoms of Status :Answered
the same element giving rise to large molecules?

Ans xluﬂ:ﬂﬁaﬁ

Aluminium

Chosen Option :2

Q.45 FRufer ar sngpfer # go oRader & Fwor v g & Tfye = Fr war smar ¢

Question ID :9864493361
The energy possessed by a body due to its change in position or shape is called:

Status :Answered
Ans

Chosen Option :1
15/27
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. aifarst F=r
kinetic energy

§ TETafAF FAT
chemical energy

AT FAT

x
x

X 3.

nuclear energy

) Rufa= w=
| potential energy

v

L)

Q.46

Ans

R 1w o F it ug &1 T H

E1, H2, K6, N24,

Select the missing term in the given sequence.

El, H2, K6, N24,
X 1.Q72

X 2.P120

X 3.Q720

v 4 Q120

Question ID :9864494049
Status :Answered
Chosen Option :4

Q.47

Ans

T W egEs e w i o S & s A R e @ s
T &

a6
AT F MG F FROT g ¥ AT FAT W T T TF A4 TG I

HeAATA:

1. T W S 3EE TF TEE TS A §
2. g 3= F T ® o AT A R

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:

Due to potholes in the city a large number of people are unable to reach the airport on
time.

Assumptions:

1. Reaching the airport on time is not necessary.
2. There is no other route to the airport.

A AT 1 T2 G RRga g

Neither 1 nor 2 is implicit

1

Question ID :9864493889
Status :Answered
Chosen Option :2

Page - 16
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7> Faer AT 2 Afea 7
Only assumption 2 is implicit
Faer A 1 AfRa @

’ Only assumption 1 is implicit

| 1 3 2 et e ©

Both 1 and 2 are implicit

x

x

Q.48 T 7rar = ow SR & Afdw ule @ afer § T §= @ 2 33650
7

a1 wiesy A & v aifts a99 e &

Question ID :9864493780
Status :Answered
Chosen Option :1

Expenditure of Family

BFG0d HeueRent §ERtemainment B Ohid Educatan W Medcal BProviaent Fund

Expenditure of family- mifanfs =y
Provident Fund- sifa=sr i

House Rent- 57 &1 f&m@r

Food- TWET 92Ty
Entertainment- Hl{==T

Child Education- ==it 7 7% Medical- Za=ar

The chart represents the domestic expenditure of a family per month with total
expenditure being ¥ 33650 then the annual saving for provident fund is:

Expenditure of Family

WFasd W Howe Bent B Efterlainment B Chid Edudation B Medicel B Pravident Fund

Ans X 1. T 4038
&< 2. T 4083
X 3. T 48,465
W 4 T 48,456

Q,49mmﬁmﬁmmw3ﬁmﬁa;ztlﬂ+mﬁw&#gﬁ
T e & w87

The ratio of boys and girls in a club is 3 : 2. Which of the following could be the actual
number of members?

Question ID :9864492445
Status :Answered

Chosen Option :2

Ans X 118

17/27
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W 2 25
< 316
X 424

Ans

Q.50 o wefi wa-fT a9v 3o wfoat F & ol v & sieafew & wr

S AR I

Problem Figure:

2

Xz %X

Problem Figure - wea =

Answer Figures - 3ea¥ FTpfaar

The following problem figure is embedded in one of the four answer figures, Choose the
correct figure containing the problem figure.

Problem Figure:

o

X2 %X
XA
v2C

X 3B
X 4D

Question ID :9864493894
Status :Answered
Chosen Option :2

Q.51

Question ID :9864493971
Status :Not Answered
Chosen Option :--

Page - 18
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Sugar- @R Wheat- ?1g Rice- arae Others- 31
f&@r an wig =E ST wHel & afie dgEr F e J e E

o et Hr YR 6000 = &, @ Fo YA = ¢l

The given pie chart represents the annual yield of certain crops, in tons.
If the yield of sugar is 6000 tons, then the tofal productionis _ tons.
Ans X 1.30000
¥ 227000
# 3.24000
# 4. 25000

Q.52 falt sefdege 7 #, fege 7= # ofafia @ ach == =iz & &2

3 : : g g : : Question ID :9864493322
In a hydro-electric power station ultimately which energy is converted into electrical
energy? Status :Answered

Ans Iﬂﬁﬁﬁ Eﬁ. Chosen Option :1
<
Mechanical energy

| Tefas AT
Potential energy

| T B
Heat energy

| e L)

Kinetic energy

x

x

v

Q.53
Question ID :9864493910

Status :Answered
Chosen Option :1

19/27
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HEY FH d@¢ g arer aiét gl

gifeat ailv St o diE
w4 |9 |gfder (9§ | 9feee | 3eR
€

o,

1 A 40 37 35 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 1 7 3 11

The party that won the least number of seats is

Parties and seats won
Serial | Party | South | East | West | North
No.
1 A 40 37 35 27
2 B 6 26 76 36
3 C 83 71 4 21
4 D 1 7 3 11
Ans o 1.D
< 2B
K3C
P

Q.54 el & 3w 3 30% Fr JfE & Ik &) Fhew A ey Fir o oy v FRF &R
=ifge fF swr s A e gy e

The price of the sugar goes up by 30%. By what percent should Sita reduce her
consumption so that the expenditure does not increase?

ans #2310
13
: 1

22 Lo

?<. 2 E (i}

X 3. 2304
X 4. 22%

Question ID :9864492547
Status :Answered
Chosen Option :1

Q.55 TF 160 HIET &t &7 740 AT #F qF F7 40.5 ¥ #H UK Fr ) &7 A
ofa 7= 82

A 160 m long train crosses a 740 m long bridge in 40.5 seconds. What is the speed of the
train?

Question ID :9864492991

Status :Answered
Chosen Option :1
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w80 fiteher uf wer ‘ ‘

80 km/h

x , 85 ferenaiieT ufq e
85 km/'h

x5 15 e ufa =er
75 km/h

x, 70 fhrdlidex 9T =er
70 km/h

.56 & TE w frEw w1 o T & & g uomsd F @ @l @
Q-56 i ﬁ;? ™ Question ID :9864494069

Status :Not Answered

Chosen Option :--

gfam

2

P wm el i mad v F wagma § v aga o
mwg&ntmﬁgﬁ%mqﬁaﬂmﬁmmﬁtﬁmzmm
3T & AT T B

O
1. T FHAY HETGeH H Feg AT age g
2. T FHAY HGE W FT I B @ R

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
A government servant sitting idle tells a visitor to come after 2 weeks to get this certificate
attested. as he is very busy and have a lot of work.

Assumptions:
1. The government servant wants to help the visitor.
2. The government servant is expecting a favour from the visitor.

w3 U 2 et

Only assumption 2 is implicit.

e qFUROT 1 ARt &
. Only assumption 1 is implicit.

1 3k 2 Bt JEuROTE SR ¥
’ Both 1 and 2 are implicit.

4u‘-rFﬂ'13ﬂTFré’f23=iHﬁ‘%T-rﬁ'l

Neither 1 nor 2 is implicit.

x

x

x

.57 Rigaft (- 5, 5) AR (7, -3) T TWr-EOT F HARF FT X 31 F HgIA
? e ; . ) Question ID :9864492875
i ﬁg iniiald Status :Not Answered

The coordinates of the point that divides the line segment joining the points (= 5, 5) and Chosen Option :--

(7. — 3) internally in the ratio 3 ¢ 1 are given by:

Ans X1 (- 2, 3)
v (4,-1)
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X3 0)
xX4+(1,1)

29-08-2018(6).html

058 1 AT 2020 F FiT A & FrM?
What day would it be on 1%t March 2020?

Ans m
X
Monday

: oI Ha
Saturday
SETIN

x

X 3.
Friday

v
Sunday

Question ID :9864492833
Status :Not Answered
Chosen Option :--

0.59 oo 4@ &, ma s (7) F o= | 3= T 38T 7 99 F1

D G K 7,V

In the following letter series, one letter is missing as shown by the question mark (7).
Select the missing letter from the given options.

D, G, K7V

Ans of 1P
X 2R
XL
KaM

Question ID :9864494271
Status :Answered
Chosen Option :1

Q.60 AT FHAE 37 & A-FEd A =Y 8 F 37 § de-dtud F auat #de
Y Sger AT A 3F AL 99 A FT AT A 97 ¥ "€ & 3/ & aUaT genl
A% IFA I3H = A7

Two-thirds of my current age is the same as three-fourths of that of one of my cousins’.
My age three years ago will be his age four years hence. My current age is Years.

Ans x 1. 72
v 2 63
< 354
X 481

Question ID :9864492672
Status :Not Answered
Chosen Option :--

0.61 250 I =7ty Faer fommd s #r A 5% B dOW == F Pwammms
To & AT g

The amount of glucose required to prepare 250 g of a 5% solution of glucose by mass is:
Ans 125 9IMH
X
125 g
12.5 <A

V2 125¢

Question ID :9864493067
Status :Answered
Chosen Option :2
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50 9ATH
X 3.
50g
259MH

Xa 25¢

Q.62 ~HE & 3W WA 7% WA TeaT FT I TTE ATer aES mer &
=gafiyg famar m Question ID :9864493489

Newlands arranged the then known elements in his table of octaves. Status :Not Answered
Ans x 1. 63 Chosen Option :--

v 2. 56
X 3.58
X 417

Q.63 T v mF W AW & Ak 7w w1 F TeRRw aE § § FEw we
T 7 3e5T 3% & e g 3 Question ID :9864494027
Status :Answered
X 1 AR e # o maw e Chosen Option :4
-

1. X 3t ¥ 2=t v mry Saw Fr 8 RAT & 79 mea §
2. X F A we= A Y & 5 99 B 3Re ava §)

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How long will X take to build the wall?
Statements:

1. X and Y together can build the wall in 8 days.
2. X takes 5 days more than Y to build the wall.

Ans XL
R T 9o W 3o & ¥ AT 2 aiber wutew &, TR 1 aneem woew o
]

2 alone is sufficient while 1 alone is not sufficient to answer the question.

v

fow 7T o FT 3eaR & F AT 1 anFer gutem &, 59T 2 e gaeg A
]

1 alone is sufficient while 2 alone is not sufficient to answer the question.

X 3.
T T T T FeaT & F e AT A 1 A & 2 AT ¥

Neither 1 nor 2 is sufficient to answer the question.

X 4.
BT 1T g9 & 3ea¥ &= & faw 1 3k 2 =t gorem F
Both 1 and 2 are sufficient to answer the question.

Q.64 gEre vaT y@en R AgedT # B &7 Question ID :9864492120

In which continent is the Andes Mountain range situated? Status :Answered

Ans ::Rﬁrq. Chosen Option :3
X1
Europe
X 2. :

Australia
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. efaror AT
South America

x4
Africa

v

Q.65 TF T & MR IUF I AT A FAK TS F IR F T
o %1 wAET g & Wy Re & @9 5% F I a4 gem

The base of a triangle is one-third of the base of a parallelogram having the same area as
that of the triangle. The ratio of the corresponding heights of the triangle to the

parallelogram will be:
Aans X 1.3 :2
X24:1
R
vig: 1

Question ID :9864492915
Status :Answered

Chosen Option :2

0-66mﬁﬁﬂ'%ﬂ'ﬁ1ﬁ$’|‘§ # FrEer 9T 3 9o grm

Which of the below fractions when added to g gives 32

Ans . _%
2

x -

3

v s 13

X4.E
2

Question ID :9864492801
Status :Answered

Chosen Option :3

Q.67 TEY 2018 TF U7y TS & AR, HAE & snddew dn A T
F1 Alfers #iT 27
As of February 2018, who owns the Mumbai-based IPL team ‘Mumbai Indians’?

we | Romi gsei
Reliance Industries
g , ST ST
Times of India
x5 31THareT s==a
Amitabh Bachchan
x4 AMETT T
Shah Rukh Khan

Question ID :9864492139
Status :Answered
Chosen Option :1

Q.68

Question ID :9864493978
Status :Not Answered

Chosen Option :--
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Ans

faw wT FETEAt T A &Y =9 Mt o7 9 & % sl o (@ el
THAA! # & FAF FT FTFETT T F FFEOT (FIAT ) T E

TFA:
Frenfh aeAe FET # agfas Rfscar gland seeey € BT o g & aer
g & o E

e

1. Rfrem dfaet & Sef oo & BT s s o sl 2ieet
F wY H FE A F R FA F@r aiRe
2. a9 FRY I FA A F T TEN F AR A AR

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the information given in the statements,

Statements:
Though there is advanced medical facilities available nowadays, still child mortality in
India is high.
Conclusions:
1. Medical scientists should be asked to give up their job and work as doctors to save

lives.
2. The Government has to make efforts to decrease child mortality.

. 1 3R 2 =t IFET T
Both 1 and 2 follow.

1 3R 2 A sregEer @ e #
Neither Inor 2 follows.

oot w1 AFEIOT FIA g
| Only conclusion 1 follows.

haer T 2 TR0 AT B

Only conclusion 2 follows.

x

X3

v

Ans

Q.69 ABCS+#DEF&=?GHII2«@ F/ F1 39T Xt §U, fovet o & Nawr vurr

oy

ASD G @

Using the sequence ABCS+#DEF&="GHI!2*@, fill in the blank given in the following
expression.

ASD 6@

vi&
X272
X 3=
X4 F

Question ID :9864493963
Status :Not Answered
Chosen Option :--

Ans

eQ70[63 - (—3){—-2-8-3}]+3{6+(-2)(—1)}=?

[63—(—3){-2-8-3}+3{6+(—2)(—-1)}=2
K10
X 23
VD!

Question ID :9864492459
Status :Not Answered
Chosen Option :--
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X a2
IR B 3
? JEI' '\ﬂ' EF}T;[ | m m &1 el ;lﬁ %’) Question ID :9864493610
Which of the following solutions do not conduct electricity? Status :Not Answered
Ans m gls;}m.lgg .En?'l_ Chosen Option :--
r

Sodium hydroxide solution

v 2

Glucose solution

vfifes vfis o=

X 3.
Acetic acid solution
x gISSiodI s UTHS ©ier
4,

Hydrochloric acid solution

072 S . '-FIT% ,: ks %? Question ID :9864492242
Who is the author of the book "Lone Fox Dancing: My Autobiography™? Status :Not Answered
Ans v PgR=-T = Chosen Option -
1.
Ruskin Bond
: safa
* Arundhati Roy
X 5 MsT 2
Shobha De
Frog. g

X a
V.S, Naipaul

X

Q.73 TF FiE & TfE SKYJACKING & AJYKSGNIKC Torar =mar & o s g &
CHEAPJACKS & &% far@r smeam? Question ID :9864494165

If in a certain code, SKYJACKING is written as AJTYKSGNIKC, then how will Status :Answered
CHEAPJACKS be wrnitten as in the same code?

ans o 1. PAEHCSKCAJ
< 2 PAAEHCSKCAJ
< 3 PAEHCCSKCAJ
X 4 PAEHCSKAJ

Chosen Option :1

Q.74
Question ID :9864493789

Status :Answered

Chosen Option :1

26/27

Page - 26



9/14/2018
A= &r o gl # ae & Rw wH T w1 e Wt et &

AT greir?
I 3 K
A :; L;; B
E | F
HM
o [

Ans of 1.17
X 214
<318
X416

Q.75 Frefereded, W& A F@r 1 07 9= Fgr T T 87

Complete digestion of carbohydrates, proteins and fats takes place in the:

Question ID :9864493356
Status :Answered

Ans x TTHAT ot Chosen Option :3
1

' Oesophagus
x ) 9T A
Stomach
7> oIET 3T H
Small intestine
| AT HF
. Large intestine

X

27127

Page - 27



